[ Efficiency vs vertpos |

< 0.1
20.09
4

20.08
(8]

§0.07
[

£0.06
0.05
0.04 ; :
0.03HT -1t q4 4 Fp-5----- - e
0.028H{T-11F Lo 29 SR O R
0.01fH-HH{4 ; EE PP

iine - TS

o0.8fH+ f b fef e SEPEPRRPEPES

.................................................

.................................................

................................................

.......................................

LA RMAN AL RN LARLE LLARN RRRRS

Ratio

B

o6} 1A MR 1 1 . SR

2

1072 1 10 0
TP vertr (cr%)

—=— DQM_CKF_TT_retrain

Efficien —— DQM_mKFit_TT_retrain

N 0. T T
L e 0 e
1) . . . . .
2 0.08----- [ARRE b ok AR RIS P
> : : : : :
2 : : : : :
TeL] i Sl N R S
o : : : :
£ 0.06F - LEREEE (R I ERER R i
o : : : :
N B i R Rt

7 S * ----- 1)
e S S | * il
0.02F++---fe-+-1-- E '

0.01F--+-ocbee - fH -

FTHE

osferivp AU
-30 -20 -10 O 10 20 30
TP vert z (cm)

Ratio

[ Efficiency vs. sim PV z |
~n 0.2
> : : : : :
B QLB ++eeh oo b
S . : : : :
ARl T A
S S S
P E : : : :
SO0.12F -1 rmereredeeeeee prreeredeseeee AR
0.1
0.08
0.06
0.04

0.02

q

0.8

..............................

efticie

3
Ld
S
-
-

..............................

Ratio

n
L

0.6 ;
-10 -5

I!III!III!_' “_|_|_|_|IIIIIIII
i TR U

15 20
Sim. PV z (cm)



	Contents
	Page 1


